
Missouri FUN Page!
WORD SEARCH

Can you find the words from the list below? 
They might horizontal, vertical or backward.

Unscramble 
the letters to make  

the capital of Missouri:

N O F R J E S E F
T Y C I

_ _ _ _ _ _ _ _ _
_ _ _ _           

ANSWER: JEFFERSON CITY

Hawthorn
St. Louis
Soy Beans
Ozarks
Lake Wappapello
Algonquian
Missouri Waltz
Mule

Color the  
Missouri State Flag:

Color key:

A F S Y O R R J X Y O T M B P H

N E T J O B F O T X V O X U A E

S M L L B D P I X H K T D E I S

M H O N A I U Q N O G L A Y S J

O X U H H A W T H O R N E G W M

Z G I Y H S N A E B Y O S K N X

A Q S M I S S O U R I W A L T Z

R N B C O H Q T R W M A A A I Y

K V L K B Q B E S G M U L E D F

S O L A K E W A P P A P E L L O

QUIZ
What is Missouri’s  

nickname?

ANSWER:
THE SHOW ME STATE
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The Look There State
The See This State
The Show Me State

2011-2012 by Education.com

Measurement: Converting Feet & Inches

20 in = ? ft 12 20
12
8

1 R 8

1 ft 8 inAnswer:

Since there are 12 inches in 1 foot, 
we will divide 12 inches into 20 inches.  
The whole number will reveal the feet 

and the remainder will reveal the inches.

Please convert the following heights.
Be sure to show your work!

How tall is the tulip?

20 in

Example: Conversion Key

12 inches = 1 foot

inches = in
feet = ft

18 ft 17 in

in inft

How tall is the Easter Bunny’s house?
How long is the Easter Bunny’s footprint?

How tall is the Easter Bunny’s favorite tree?

35 ft

How far is the tree from the Easter Bunny’s house?

684 in

in inft

How tall is the Easter Bunny?

If the Easter Bunny is 5 ft 8 in tall 
from his head to his toes,

how many inches
are his ears?7 ft 2 in

? 

in
in

(Hint: Use multiplication 
to solve this problem!)1. 2.

3. 4.

5. Bonus:


